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* number of events for a given file, numu 000

» follow all weights

e should scale to pot, look at mode and pnu



Follow number of events

neutfile/ .dat (3000 events * 100 files * 3 flavours) = 9e5 events

neutfile/select/ .dat means <3000 events each (* 100 files * 3 flavours)

ProcessNCEL_mc.sh takes in neutfile/select .dat and does detsim, lowfit, lentuple, and weights_postfit_banff

ScrapelLE.py (and Scrapper.py and Sel.py) take lentuple and weights_postfit_banff and makes

ncgamma.xsec_prefit.ankowski.nosel.root

for a given file, numu 000:

neutfile/ .dat

neutfile/select/ .dat

destim/ .zbs

lowfit/ .zbs

lentuple/ .root
weights_postfit_banff/xsec_prefit/ .root

ncgamma.xsec_prefit.ankowski.nosel.root

3000
1842
1842
736
736
736

150,343

decoder for .dat and .zbs

lowfit cuts events | guess?

combination of all 300 files? (300* ~700 = 210,000)



* ncgamma.xsec_prefit.ankowski.nosel.root made by runscrape.csh,

e so ScrapelLE.py, which imports Sel.py and ScrapelLE.py

runscrape.csh

python ScrapelE.py —-suffix=xsec_prefit.ankowski.nosel --friend=/diskBl/usr4/cn’

antais/ lemc/weights_postfit_banff/xsec_prefit/ --nosel --storeweights AdiskB1l/u’
sr4/cnantais/ lemc/ lentuple/* .root

e ScrapelLE.py has MC scales

ScrapelLE.py

-
e2l/1.3742e23 * 189.,

= 4

1 K

1.e21/7.1755e24 * 100.,
s 1.221/3.7705e24 ¥ 108,



= defaultdict( b

= defaultdict{li=t) for run TUnS
) f .mcmode :

{} : = .scales[fileType]fmctree.GetNtrees()

i

= collections.OrderedDict()
- f luxtunes [run] [fileType].FindFixBin{mctree.pnu[8])
¥ Ly ey €5 laTur retBinCo ¥ :

Scrapper.py - .f luxtunes [run] [fileType].GetBinContent{bin)

weight4 is branch in

friendiree:

ncgamma.xsec_prefit.ankowski.nosel.root *= friendTree.weights.At{(9)
.storeVveights:
FSetVar( ,friendTree.nweights)
f.SetVar( ,friendTree.weights)

weight4 =1
* scales =17 .SetVar( srun, wgt)
e flux

. python ScrapelE.py —-suffix=xsec_prefit.ankowski.nosel --friend=/diskBl/usr4/cn’
* XSsecC (from XSGC_pI’EfIt) antais/ lemc/weights_postfit_banff/xsec_prefit/ --nosel --storeweights /diskBl/u’
sr4/cnantais/ lemc/ lentup le/*.root




* weight4 is applied in SelectionPlots.py
=[8, 0, 8, tree.veight4 ]

weights

» weight4 (scales, flux, xsec)

* (mawgt)

e t2kposc

tree.mawgt
1.

ee  L2kposc

mawgt*t2kposc
( Xe isc, weights )




Final Weight in SelectionPlots.py

SelectionPlots.py

Weight
* weights (weight4 (scales, flux, xsec), mawgt, t2kposc)
* pot

* cuts for energy, wall, ewall, ovaqg, prea, and angle = [1.] *runarray
S selections:

combination of Weight for each run, but we’re only doing Run 4 or 1 (runarray ):

[1] *= =[1]

{wgta}

SelectionPlots.py 6



Scale to POT

* previously, had turned off all weights
* want to scale to POT

* compare mode and pnu, for 17Jan2016 and current

SelectionPlots.py

» [6%0.2/495 .%0tzcale] « [6%0.2/495 . %0otscale ¥ (runarray-1)

y 1.188e20/1.021, 1.560020/1.021, 3.560e20/1.021 )

| updated POT




